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QUESTIONS REPORT
for Turkey Point Final Exam 2603-201 Questions

Which ONE of the foliowing is the hasis for reducing charging fow to the minimum
required to maintain RCF Seai injection following a loss of 120 Vita! instrumeant Fanei
3P06, as redlired by Step 3.a, of 3-ONOP-003.6. "lLoss of 120V Vitzl Instrument Panel
3PO67"

A. Reducing charging flow assures proper back pressure an the RCP # 2 seal and
ensures the # 2 seal IS nat cocked.

B. Reducing charging flaw extends the time for recovery withcut tripping the Reactor
on high pressurizer ievel.

C. Minimizing the fill rate of the pressurizar extends the time for reccvery without lifting
a pressurizer PORY duea tu comprassing the bubble.

D. Minimizing charging pump speed ensuras that a inss of charging doss not occur
due to low oil pressure to ensure that RCP Seal Injaction is maintained.
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QUESTIONS REPORT
for Turkcy Point Final Exarn 2003-301 Questions

Which CNE of the Tollowing is the corvect group of immediate operator actions for &
loss of RHR, in accordance with 3-ONOP-050, Loss of RHR?

A. Have alocal operator stay near the RHR. pump until normal RHR flow is restored,;
caiculate RCS haatup rate; determine the time requirei! to reach saturation in RCS;
and check that the LLoop [REIR Pump Suction Stop Valves are OPEN.

B. Have alocal eperztor maintain communication with the control room; have a local
operator stay nearthe Ri1R pump until norma! RHR fiow is restored; and check that
the RHR Discharge To Cold Leg Isclation Valves are OPEN.

C. Have a local operaior maintain communication with the control rooim ard check
RHR purnp amgs localiy for signs of cavitation; calculate RCS heatup rate;
determing the time required to reach saturation in RCS; arid check that the Loop:
RHR Pump Sucticn Stop Valves are OPEN.

L. Chack RHR pump amps for signs of cavitation; check that the RHR Dizcharge To

Coldl L ag Isolation Valves are OPEN; and piot core exit temperature every mirute
for 5 minutes to determing RCS heatup rate.
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QUESTIONS REPORT
ifor Turkey Point Final Exam 20C3-301 Questions

3-0Y-041.3Pressurizer Relief Tank, Step 7.4.2.7 directs an operator to be: "stationsd
at the Waste/Boron Panel to cperate the PRT drain {o sump valve LCV-3-10C38 if
necessary "while removing air from the PRT following maintenance.

Whick ONE of the following is the basis for dispatching a plant cperator to the
Waste/Baron Paneal?

It wit! ensure that if a:

A. rapid pressure increase occurs, the drain vaive could Ee immediately openad.
B. rapidlevel decrease ccours, the drain valve could be immediately ciosed.
C. vacuum is drawn iri the PRT, the drair valve could be immediately closed.

0. level increase baging, the drain vaive could be immediztaly opened.
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QUESTIONS REPORT
for Turkey Puoint Final Exam 2C03-301 Questions

3-ONOP-047 .1, Lass of Charging Fiow Inkodes 1Through 4, Step 4.1, statesto
"Attempt to reestablish charging.”

Which ONE of the fellowing statements is correct if charging flaw is lost due ti,
charging pump failure?

The operator should try to start;

A. only &n cperasle charging pump. I charging is reestablistied, then normal
operaticn ¢an continue.

B. any available charging pump. even if it is not operable, i charging is resstablished,
then normal operalion can continue.

C. only an opetable charging pump. If charging is reestabliched prior t¢ ¢losing
ExcessLetdown and RCP Seal Return Isclation Valve, MOV-3-6386, normal
operaticn can continue,

D. any available charging nump, evenif it is rnot operable provided that all pest
mairtenancs tasting had been completed when the evant ceourred.
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QUESTIONS REPORT
for Turkey Point Final Exam 2003-301 Questions

&

it 3 is at 100% power with the 38 Cortainment Spray FPump tagged out-of-service
for maintenance.

The unit experiences a design basis LOCA with the fellowing corditicrs present:

- Containment pressure 3 psig increasing

- 3A Contairment Spray Pump Faiied due to a seized shaft
- 3A Emergency ContainmentCooler (3A ECCY Running

- 3C Emergencyantainment Cooler (3C ECC) Failedte auto start
EOP-E-0 Reactor Trip or Safety Injection Immediate astions complete

The STA informs you, as the SRO, that containment pressure is above the pressure for
an ORANGE path tc EOP-FR-Z.1, Response to High Containment Pressure

Which OME of the fcliowing describes the action that must be performed and the
reason for this action?

A. Continue in E-0 ang nianually start the '35" and "3C' ECCs to ensure that
Containment pressure will not exceed equipment quaiification envelopes.

B. EnterFR-Z.1 arid manualiy start the "3C° ECC to ensure that Containment pressure
will nat exceed equipment qualification envelopes.

C. Continue in E-Q0 ang manually start the "3C’ ECC te arnsure that Containmsnt
nrassure will not excesd Containment Design pressure.

D. Enter FR-Z.1 and manualiy start:the '3C’ ECC to ensure that Containment pressure
will nct exceed Containment Design pressure.

[
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QUESTIONS REPORT
for Turkey Paint b-inal Exam 2003-331 Questions

ONGP-341.5, Pressurizer Pressure Contral Malfunction, contains a caution prior to
Step 1 that states "The Master Controller should bz operated carefully {Normal
centrolier cutput for 2235 psig is 42.5 percent demand; 92 percent demand will open
PCW-3-4550C)."

Which QNE of the following describes why the Master Contreller must be operated in
this fashion?

Pressurizer pressure daes nit affect the Master Controller’s output when operating:

A, in MANUAL. Pressurizer pressure responds o the input to PCY-3-455C.
8. in AUTO. Fressurizer pressure responds 2 the inputto PCV-3-455C.
C. in MANUAL. Pressurizer pressure responds to the output demand of PC-3-444J.

0. in AUTO. Pressurizer pressure responds to the cutput demand of PC-3-444.1.
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QUESTIONS REPORT
tor Turkey Point Final Exam 2003-301 Questions
7.
Unit 3 is at K0% reactor power when the foillowing occurs:
- An RCS leak has causad Prassurizer pressure to decrease to 1950 »sig.
- Power remains near 90% and efforts to manualiy trip the reactor are
unsuccessiul.

The operatcors are performing Step 1 of E-0, Reactor Trip or Safety Injection, when
Pressurizer levei docreases to 10%.

VWhizh ONE of the foilowing describes the correct direction to give the crew?

A. Continue with E-O ard manilally initiate SI.

B. Transition to FR-S.3, Response to Nuclear Power.Gereration/ATWS and manilally
initiate Si.

C. Continug with EO ard DO NOT manually initiate Si.

D. Transition to FR-S.1, Response to Nuclear Power Generation/ATWS and DO HOT
manually initiate SI.
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QUESTHONS REPORT
Tor Turkey Paint Finai Exam 2003-301 Questions

The Unitis nperating at 10:% power. Intermediate Range channel N36 is tagged out
of service because of a power supply prebhlem. Subsequently, iR channal N35 fails.
&G informs you thaf it will take apnroximately 12 hours or longer to fix N3G,

Which ONME of the following action{s} should be taken with respectto plant operation?

A, Do not change piant power level untii at least one IR channei is restored to
aperable status.

B. Proceed to HOT STANDBY condition within the next 6 hours. The reactor must be
shutdewn under these circumstances.

C. Place the N35 IR channei ILEVEL TRIP switch in the BYPASS position, and
continue nurinal plant power aberations.

L. Verity the N35 IR channe! LEVEL TRIP switch in the NORMAL pasition, and
continue normal plant power operations.
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QUESTIONS REPORT
for Turkey Point Final Exam 2003-301 Questions

Which GNE of the foliowing is correct in accordarnice with procedure 3-ONOP-033.2,
Refueling Cavity Seal Failure?

This procedure will:

A. provide instructions far plasing alternate cooling pumps in servica to ensure levels
can be maintaired.

B. irstruct the operator to slop all fuel mevement within the SFP in the even! SFF lavel
decreasas below the siphon holes.,

¢

instruct engineering support to be required to re-establish an adequate flewpath for
level restaration.

D. NOT allow irradiated fuel io be placed inthe RCC change out baskets until &n
engineering evauation is completed.

Tuasday, January 36,2004 3:34:23 PR 9



QUESTIONS REFORT
for Turkey Pcint Final Exam 2003-3C1 Questions
10.
Giver the following:

- Unit 3 is at.100% power.
- A failure inthe steam dump controi circuitry catse 1 steam dump to condenser
valve to slowly open.

Which ONE£ of the follawing describes the approximaie power level the plant could
reach, and what action(s) wili mitigate the event ?

Power could rise to approximately:

A. 103%.
Insert controi rods to maintain power less than 100%.

B. 103%.
Reduce turbing load ta maintain power less than 100%

C. 157%.
Insert contro! rods to maintain power tess than 100%

0 107%.
Reduce turkine load to maintain power less than 100%.
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QUESTIONS REPORT
fcr Turkey Point Final Exam 2003-301 Questions
1.
Unit 4 is operating at 190% power with the 4A FDG out of service when the following
sedilerica of events occur:

- The operators respond fc an ATWS using FR-5.1. "Response to Nuclear
Pawer Generation/ATYWS."

- The reactor trips tue o & loss of off-site power.

- The 4B EDG lacks out and cannot ke restarted.

Which ONE of the fallowing desucribes the correct operator response?

A. Complete the acticns of FR-S.1 and then go to ECA-0.0, "Loss of Al AC Power."
Power will be restored to a 4KW bus using the appropriate ONOP upon cempletion
of ECA-C.0.

B. Cemiplete the acticns of FR-5.1 and then go to ECA-0.0, “Loss of Ali AC Power.”
Powerwill be restored to a 4KV bus using the appropriate ONOP whilc performing
the actions of ECA-0.0.

C. Stop performance of FR-S.1 and immediately go to ECA 0.0, “Lossof All AC
Power.” Power will be restered to & 4KV bun uging the approgriate ONOP upon
completion of ECA-0.0.

D. Stop performance of FR-8.1 and immediately go to ECA-0.0, “Lossof All AC

Power.” Power will be resicred to a 4KV bus using the appropriate ONOP whiiie
performing the actinrs of ECA-C.0.
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QUESTIONS REPORT
for Turkey Paint:Final Exam 2003-3G1 Questions

12.
Unit 3 is in a refugling autage, currently performing refueiing operations, when
containment radiation Area Monitor Ri-3-1402B8 reaches 12 mremdhr. The RCO
identifies the alanming channel on ARMS Panel R-30.

Which CHE of the following describes tne corract priority of operator response?

A. 1} MNotify HP to survey the area.
2) lIsing the page, notify personnel io clear the area.

3) Sonfirm validity of the alarm by pressing tho HIGH alarm PB an Fanel 2-30.

B. 1) Confirm validity of the alarm by pressing the HIGH alarm FB on Panel <-30.

2% Using the page, natify personnel to clear the area.
3} Notify HP to survey the area.

C. 1} Using the page, netify personnel to clear the area.

2} Confirm validity of the alarm by pressirg the HIGH alarm PB on Panel R-30.

3, Notity HP to survey the ares.

. 1} Using the page, nctify personnel to clear the area.
2) Notify HP to survey the area.

3) Canfirm validity of the alarm by pressing the HIGH alarm PE on Panel R-30.

Tuesdsy, January (&, 2004 3:34:22 P
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QUESTIONS REPORT
for Turkey Point Finai Exarn 2003-301 Questions

13.
O-CNCP-013, Lass of Instrurment Air, states to Determine ihe Actual Instrument Air
Pressure on Pi-3-1444 AND [*1-4-1444 (VPA for each Unit).

Which ONE af the following should the SRO direct with respectto 3-ONOP-01 3, if
instrurnent air pressire cannot be maintained?

A. If either unit is experiencing syimpioms of aloss of Instrument Air AND system
pressure reaches 95 psig and is still decreasing, trip the affected unit’s reacter and
start the termporary diesel air compressor.

B. If Instrument Air pressure raaches 95 psig and is still decreasing OR the avaiiable
Instrument Air compressoris] isfare uriable to rastore pressure, then trip the
affected unit{s}.

C. If instrument Ai: pressure carnot be maintained abave 90 psig AND nitrogen
backup systems cannot be mainiained, then trip the affected unit{s).

D. if Instrument Air pressure reaches 65 psig anc is still decreasing AND the avaiianle

instrument Air Compressor(s) isfare unable o restore prassure, then trip the
affected urit{s}.
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QUESTIONS REPORT
for Turkey Paint rinat Exam 2003-301 Questions
14.
Unit 3 is at 100% power when an alarm is received on the fire parel for the Auxiiiary
Transformer. Subsequently annunciaters F5/4, AUX TRANSFORMER PANEL
‘TROUBLEand 1£/48 XFMR HYDROGEN SEAL OIL DELUGE OPERATING, alarm.
Investigation reveals 2 major fire an the Unit 3 Auxiliary Transtormer.

Which ONE of the following actions should be directed by the NPS?

A. Transfer i0ads to the Startup Transformer, shutdewn rapidly using ONOP-100, Fast
Load Reduction.

B. Remain on the Auxiliary Transforiner, coramence a shutdown using GOP-103,
Power Operation te: He:t Standby.

C. Transfar ioads to the Starfup Transfecrner, commence a shutdown using GOP-103,
Power Opearaticn to Hot Standby.

. Rsmain on the Auxiiiary Transforiner, parallel the '3A" and "3B’ Emergency Diesel

Generatorsta their respective buses for backup power. Shutdown rapidly using
ONOP-100, Fast Load Reduction.
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QUESTIONS REPORT
for Turkey Paint Final Exam 2063-301 Questions
15.
Linit 3 has experienced a reactar trip and safety injection due to a Large Break Loss of
Coolant Accident {|_ OCA).

The foliowing compilicatinons have cccurred:

- Three contral rods have failed to fully insert.

- Only the 'A" AFW purnp has started and problems with its turbirie is limiting
feedwater flow.

- Containment Spray pumps have failed to start.

- The crew has been able tu get only one Emergercy Cortainment Cocler unit
running.

The crew is zi Step 22 of E-0, Reactor Trip or Safety Irjection, for verifying proper
AFW flow, preparing te transition io FR-H.1, Response t Loss of Secondary Heat
Sink, per tha Step 22 RNO.

The STA reporis the following Critical Safety Function status per FR-F.0D, Critical Safety
Function Status Trees:

- Subcriticality is ORANGE - Heat Sink is RED
- Core Cooling is RED - Cortainment is RED

Which ONE of the following is the correct procadire to implement pased on the abovs
information?

A. FR-3.1, Responsa to Nuclear Power GenerationfATWS, base;! on the Subcriticality
ORANGE path.

B. I'R-C.1, Response to Inadequate Care Coding, based on the Core Coeling RED
path,

C. FR-H.1 based on the Heat Sirk RED path and the direction fram E-} Stap 22 RNO.

D. FR-Z 1, Response to High Containment Pressure, based on the Containment RED
path.
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QUESTIONS REPORT

for Turkey Point Final Exam 2003-301 Questions
18.
The following conditions exist on Unit 3, while in Mode 3 with operators preparing for a
reactor startup:

- The &hift Manager receives word that the containment air lock has failed the
leakage rate surveillarce test due to excess:ive air lock leakage.

Which ONE cf the fcllowing is correct concerning the containment personnel sccess
airlock?

{Reference Provided)

Restore the air lack to OPERABLE status within 24 hours or be in COLD SHUTDOWN
within the following:

A. 30 hours. Entry into MODE 2 is nat permissible

B. 38 hours. Entry inte MODE 2 is not parmissible.

C. 30 hours. Entry into MODE 2 is permissibie.

D. 36 hours. Entry intc MODE 2 is permissibie.

Tuesday, January Gf, 2004 3:34:23 PM 16



QUESTIONS REPORT
for Turkey Point Final Exam 2033-361 Questions
ir.
Unit 4 is in Mede 1, being shutdown when the following conditions are noted:

- Prassurizer pressure: 2205 psig
- RCS dissolved O49: 0.05 pom
- 4A 5/G tube leakage: 0.5 gpm

- RCS Loop A Tavyg: 543 OF

Which ONE of the following identifies the Tech. Spee. Limiting Condition faor Operation
that is NOT satisfied?

A. TS 3.2.5, DNB Parameters

B. TS 3.4.7, Chemisiry
C. TS 3.4.8. 2 peraticnai Leakage

D. TS 3.1.1.4, Minimum Temperature far Criricality

Tuasday, January (6, 2004 33423 PM 17



QUESTIONS REPORT
for Turkey Pcint Finai Exam 2003-301 Qilestions
18.
The unit is at 100% power with all safety-related systems, structures, and companents
OPERARLE.

Which ONE of the emergant maintenance items below MUST be corisidersd Priority
“AA" maintenance per 0-ADM-701, "Caontrol of Plant Waork Activities™ ?

A, "A" Charging Fump must be remaved from service for motor repair

B. Surveillance testing baz not been performead on the "B Cortainment Spray Pump
within its reguired surveillance interval.

C. Ihe "A" Auxilliary Feedwater Pump is noperable due to a bearing failure.

D. Two RPIs are determinedto be inoperabie.

Tuesdsy, Jarwary 36, 2004 2:34°23 PM 18



QUESTIONS REPORT
for Turkey Point Final Exam 2003-3G1 Questions

Which GNE of tho fellowing correctly identifies the maximum Spent Fuei Pool {SFF)
temperzture allowed for the commencement of refueling cere off-load AND the §FP
temperature at which care off-load shall be suspended?

Start Off-Loay Stop Ofi-Load
A. 120 OF 270°F
8. 120 OF 140 OF
C. 100 CF 170 9F
D, 100 OF 140 OF

Tuesday..January (06, 2004 3.34:23 PM



QUESTIONS REPORT
for Turkey Point Final Exam 2003-3C1 Questions
20
A plant worker is unconscious and presumed badly injured in a Very High Radiation
Area.

A 50 year-old voluntger member of the rescus team is attempting (v reach the man.
The rescuer has already received a whaie body exposure of 4 REM.

Which ONE of the followirg identifies the additional allowable exposure the rescue
WOrKEr Iay receive in this rescue atiempt?

A. IREM
B. € REM
. 27 REM

0. Mo Limit

Tuesday, Jamgary 06, 2004 3:34.23 PM
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QUESTIONS REPORT
for Turkey Point Finai Exam 2003-301 Questions

Unit 3 is at 100% reactor power when the following annunciators are received:

- B-2/2, POWER RANGE UPPER DET HI FLUX DEV/AUTO DEFEAT
- B-6/4, POWER RANGE CHANNEL DEVIATION

- B-8f2, AXIAL FLUX TILT

- B-9/3, SHUTDOWN ROD GFF TOF/DEVIATION

Which ONE of the Tollowing describes the event that has occurred and the appropriate
action to be taken?

A. Cont:al Rod B-10 {bank 'B’,adge of the care) dropped to 110 steps. Implement
ONOP-028.1, RCC Misalignment.

B. Controi Rad H-8 {barmk 'T¥, middls of the core) dropped to 110 steps. Implement
ONOP-028.1, RCC Misaiignment.

C. Controi Rod B-10 {hank 'B’.edge of the core) fully dropped. Implement
ONOP-028 3, Uropped RCC.

D. Centrol Rod H-8 (bank 'T¥, middle cf the core) fully dropped. Implement
ONOP-0282 3, Dropped RCC.
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QUESTIONS REPORT
for Turkey Foint Final Cxarm 2003-331 Questions
22.
YWhich ONE of the fellowing iderttifies the Maior Action Cetegeries in their preper ordsr
for responding to a Stcam Genrerator Tube Rupture {SGTR} using FOP-E-3, "Steam
Generator Tupe Rupture"?

A. Identify and isolate the ruptured Steam Generator.
Depressurize RCE to restore inveniory.
Cooi down to establish RCS subcocling margin.
Terminate S to stop primary to secondary lezkage.
Prepare for cooldown to cold shutdown.,

B. ldentify and isolaie the ruptured Steam Generato;.
Coo! down to establish RS subeooiing margin.
Tarminate Sl tnstop primary to secondary leakage.
Depressurize RCS to restore: inventory.

Prepare for cooldown to cold shutdown.

C. Identify and isolate the ruptured Steam Generator.
Cool down to establish RCS subcooling margin.
Depressurize RCS to rastore inventory.

Prepare for cooldown to cold shutdown.
Jerminate Sltc stop primary to secondary leakage.

D. loentify and isolate the ruotured Steam Gencrator.
Ccol down {0 establisn RCS subcooling margin.
Depressurize BCS o restore nventory.

Terminate Sl to step primary ¢ secondary leakage.
Prepare for cooldown to cold shutdown.
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QUESTIONS REPORT
for Turkey Point Fina! Lxam 2003-301 Questions

23.
EOP-ECA-1.2, LOCA OQOuiside Containment, Step1 directs the operator to check RHR
pump suction stop vaives, MOWV-750 and 751, position an the alternate shutdown
panel.

Which ONE of the fallawirg is tha basis for checking the valve peasition on the aiternate
shutdown panel?

A. Power is removed from the RHR icop suction valves. Tnerefcre. control reorm
position indication lights are also be-energized.

2. Control roomindication is not reliubie because actuai valve position and indicated
vaive position are not linked. All alternate shutdown valve positions arg powerad
from a vital DC source. Actiial position in equa! to indicated position.

C. RHR pump suction stop vaivas can only be manipulated from the glternate
shutdown panel because any flew path which isisclated to stop a LOTA outside
containment is requiredto ke maintainedisolated during subsequent recovery
actions.

E. RHR pump suction stop vaives have ng Contral Room positior indicating iights.
I'"he only nlace valve position can be verified is at the alterriate shutdown parel.
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QUESTIONS REPORT
for Turkey PuintFing! Exam 2003-301 Questions

24.
Operators arg perfcnmning EOP-FR-H.1, Response to Loss of Secondary Heat Sink:
and have successfully initiated Bleed and Feed.

The BOP subsequently announces secondary heat sink is restored using "A" Standby
Steam Generator Feed Pump.

Which @NE2f the following describes the correct operater response?

A. Continue performing FR-H.| to completion.

B. Return to procedure and step in effect when Teed flow is verified to be > 345 gpm.

|‘:‘|.

>. Bsturn to procedure and step in effect wher narrow range level in any S/G is > 6%
[32%5].

Return to procedure and step in effect only when narrow range levels in all /Gs
are > 8% [32%].

»
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QUESTIONS REPORT
for Turkey Point Final Exam 2003-301 Questions
25

A Steam Generator Tube Rupture and & Less of Coolant Accident has nccurred
EOP-ECA-3.2, SGTR With LOCA - Saturaticn Recovery Desired, Step 8, states
"Initiate RGS Cooldown to Cold Shutdown by durmping steam te the condenser frem
the intact 5G{=)."

SGs "B" and "C" are HOT available.

SG "A" is faulted arid ruptured.

Which ONE cf the following actizns is correct if the steam dump to condenser control
system is not functioning from the control roont?

A. Immediately isofate the accumulators locally and depressurize the RCS ta 700 psig
and reinitizie Si.

B. Irmnmediately isolate the accumiullaters locally and depressurize the RCS ta l6ss than
250 psig and commsrce RHR shut down cooling.

C. IfRHR is NOT in service, then manilally dump stearn {(using steam dump to
atmosphere valves) from the "A" SG.

D. Check RHR i service then manually dump steam {using steam dump to
atmosphere valves) from the "A" SG.
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QUESTIONS REPORT
for Turkey Foint Final Exam 2003-201 Questions

Which ONE of the falicwing describes the initiai response of the: unitto a dropped rod
at 100% reactor power assuming the unit does not tip?

A. Pressurnizer level increases ard letdown flow decreases.
B. Pressurizer level decreases and letdown flaw decreases.
C. Fressurizer level increases and letdown flaw increases.

0. Fressurizer level decreases and ietdown flow increases.

Tursday, Jamaary 06, 2334 3:34.57 PM



QUESTIONS REPORT
for Turkey Point Final Exam 2003-301 Gusstions

The following conditions exist on Unit4:
- All Reactor Ceoolant Pumps (ECPs) are running.
- Reactor Fower is baing hald at 45% per a request from Chemistry
- NIS Power Range Charnnels read:

MN41 = 44%; N42 = 46%; N43 = 45%; N44 = 46%

Which GNE of the following describes the effect on tha RPS if the high pressure root
line for RGS flow ori LOOP ‘B’ breaks? (Disregard any effects an containmernit.}

PSS will ses a:

A. low flaw signai on all chanreis of 'R'1LOCF and will send a reactor trip signal.

B. low flow sigral for only one channel of ‘B’ LOCF low and give annusiciator B-172,
"RX COOLANT LOOP B LO FLOW."

C. high flow signzl on onty ons chanrel of ‘B’ LOOP. No reactor trip will occur.

D. high flaw signal on all channels uf ‘B LOOP and therefore will be unzabie to process
a low flow reactor trip for "BLOOP.

Tuesday, wanuary 08, 2004 3.34:57 PM 2



QUESTION$ REPORT
for Turkey Point Final Exam 2003-301 Questions

Which ONE of the following describes the operaticn of the letdown isclation valve,
LCV-46C, from the control room:?

{Assurne the Momal/Bypass, kaylock switch is in Normel.}

A. LCV4B0 cannct be clesed unless all orifice isoiation valves (CV-200's) are shut
first.

5. LCV-460 cannot be opened unless an orifice isolation valve [CV-200's) is open.

C. When pressurizer leve! is iess than 14%, LOV-460 will shut fellowad by the shutting
of all crifice isclation valves (CV-200's).

D. LCV-460 must be closed prior to opening ary orifice isoiation valve (CV-200's}.

Tuesday, Jeniuary 06.2004 3:34:57 PR 3



QUESTIONS REPORT
for Turkey Point Final Exam 2003-301 Questions
4.
Unit 3 iz in Mode 5 on RHR coding. The temparature aut of the KHR heat exchanger

is being maintained at 125 ©F.

Which ONE cf the following describes the nermal cperation of HCV-758, RHR Heat
Exchanger Outlet Flaw Control Yalve, and FCY-635, KWR Heat Exchanger Bypass
Flow Control Value?

A. HCV-758 automaticaily moduiates to maintain heat exchanger outiet temperature
and FCV-505 automatically moedulates to maintain totai RHR flow.

B. HCV-758 must be manrually adjusted to maintair total RHR flow and FCV-605
automaticaly modulates to maintain heat excharger cut'et termperature.

C. HCV-758 must ba manuaily adjusted io maintain heat exchanger outlet temperaturs
and FCV-605 autematically modulates to maintain total RHR flow.

D. HCV-758 avtomatically moduiates to maimain heat exchanger outiet temperafure
and FCVY-805 must be manually adjusted to maintain total RHR flow.

Tuasday, Janwary 45, 2004 23457 Pid 3



QUESTIONS REPORT
for Turkey Point Final Exam Z0032-3M Questicns

{Controi room operators are respanding t a Loss of Ceolant Accident {(LOCA}L An
operator manitoring the criticar safety functicr status trees observes a RED path on
CORE COOLING indicating implementation of EOP-FR-C.1, Respanse to inadequate
Core Coding.

Which GNE of the following is the FIRST action to be taken if HHSI Tlow cannot be
estatlished o restore core cooling?

A. Depressurize the RCS to inject accumulators
B. Increase AFW fiow to maximum,
C. Depressurize the RGS to allow low head safety injection.

D. Start charging pumps 2 deliver maximum flow.
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for Turkey Point Firai Exam 2003-301 Questions

Unit 4 letdown relief valve, RV-203, lifted and has subsequently bean «losed and
reseated. When RV-203 lifted, annunciater A 741, PRESSURIZER RELIEF TANK Hi
TEMPYHI LEVEL HI PRESS/ . OW LEVEL. alarmed.

The following conditiong currently exist i the FRT:

- Temperature is 130 CF
- Pressure is 15 psig
- Lavei is 85%

Which ONFE of the following describes the action that should be performed first in orcer
to restore the PRT parameters?

M. Reduce PRT temperaiura.

B. Reduce PRT level.

C. Reduce PRT pressure.

D. Cbtain a grab sample from the PRT.

Tuagday, January 06, 2604 3:34.57 FM 5]
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for Turkcy Poirt Final Exam 2033-301 Questions
7.
The fallowing events ozcur an Unit 4 while the Turbine Test Handle is in TEST:
- A loss of feed water has occurred.
- Reactor trip breaker ‘A’ is open.
- Reacter trip breaker 'B' failed to apen.
- AMSAC has actuated.

Which ONE of the following will cause the turbine auto stop oil to dumg?

A. AMSAC via solenoid 20 ASB.
B. AMSAC via solencid 20 AST.
C. Reactor trip breakers via solenoid 20 ASR

E?. Reactor trip breakers via golencid 20 AST.

Tuesday, January 08, 2004 3:24:57 PM
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Tor Turkey Puint Final Exam 2003-301 Questions

The craw is responding in accorcance with E-1. Loss of Reacter or Secondary Coclant.
Prassurizer lzvel has risen continucusiy even though the RCS prassure has been
dropping steadily. All Reactor Coolant pumps are in operation.

Which ONE of the following leak locations is consistent with the plan: conditions just
described?

Weld break or;:

A. the pressurizer sample line.
B. one of the CRECM nozzle penetrations.
C. the lineto Pressurizer.PORV Block valve MOY-536.

D. the Charging header connection ta the RCS.
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for Turkey Point Fina! Exam 20023-201 Questions

o

The following conditions exist on Unit 4 in Mode [

- 4A CCW pump is running.
-4B CCW pump ¥PB Control Switch is in AUTQ.
- AC COW purnp is aligned to Trair ‘A’ with its VYPB Contro! Switch in AUTO.

The 4A CCW pump momentarilly experiences an overcurrant condition and the 4A
ZCCW pump trips.

Which ORE of the followirg describes the automatic actions that take place to restore
CCW flow3

The CCW pumps will sequentially star: with the:

A. 43 CCW pump starting first after a 20 second time delay and the 4C CCW pump
starting 20 seconds after the 4B CCW pump start if needed to further increase
discharge flaw rate.

B. 4B CCW pump starting first aftera 20 second time delay ard the 4C CCW pump
starting 10 seconds after the 4B CCW pump start if needed to further increase
discharge flow rate.

C. 4B CCW pump stattn; first after a 20 second time delay and tha 4C CCW pump
starting 10 seconds after the 4B CCW pump start if needed to further increase
discharge pressure.

D. 4A CCW pump starting first after 2 10 second time delay, the 4R CCW pump
starting 1G seconds after the 4.4 CCW pump start, and the 45 CCW pump starting
10 seconds after the 4B CCW pump start if needed tu further increase discharge
pressure.
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for Turkey Point Final Exam 20C3-301 Guestions
10.

Unit 3 is at 100% power when the foliowing events occur in the order sliown:

- PRMS channels R-17AM1 7B aiarm.

- CCW HEAD TANK levai increases rapidiy.

- Annunciator A 11, RCP THERMAL BARE COOLING WATER Hi FLOW,
alarm and geais in.

- Pressurizer level detreases and the running charging pump speed gees to
maximum.

- Annunciator A 9/4, FZR LOLEVEL/HEATER OFF/LTDN SECURED, &larms
and seals in.

Which ONE cf the following describes the event that has acclirred?

A. Arn RCF thermal barrier leak has gceurred arnd MOV-626, RCP Thermal Barrier
Dutlet, valve has failed to close.

B. An RCP thermal harrier leak has occurred and protective functions have responded
as designed.

C. A CVCS letdown non-regenerative tube has burst and LOV-480, High Press L/D
Izol, valve has failed to close.

D A CVGS letdown non-regenerative tube has burst and protective funciions have
responded as designed.

Tussday, January 08, 2004 3:34:57 Ph! 10
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11.

The fullowing have been verified after receiving Alarms assaciated with the Loss of a
120V Vital instrument Panel:

- Pressurize: Master Contrelier Auto/Manual Siation is in Auto lockup

- Both Pressurizer Spray valves Aute/Manuai Stations are in Aute lockup

- 3C Fecdwater Regulating valva is in Auto {ockup.

Which ONE of the following identifies the Vital Instrument Panelthat has beer [nst?

A. 3F09
E. 3PCE8
C. 3rPQ7

D. 3P36

Tuesday, January 08, 2004 5:34:57 BM 11
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for Turkey Point Final Exam 2003-301 Questions
12.

A large break LOCA occurred whiie Unit 4 was operating at 100% power. The
cperaters are respanding per E-0, Reactor Trig or Safety Injaction.

Which ONE of the feliowing describes the reascn the RGO verities the Feedwater
Isolation signal closed the Main and Bypass Feedwater Control valves in Step 5 of

E-07?

A. To minimize the potential for RCS ceoldown due to 5/0 overfill,

B. To gnsure the subsequent availability of AFW flowpaths.

C. To ensure the subsequent aveilability of secondary heat sink water sources.

D. To minimize Stean Generator pressure drop to ensure adequate steam pressure is
available for AFW pump operation.

Tussday, Jarwary 08, 2004 3:34:57 PM 12
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for Turkey- Point Final Exarn 2003-301 Questions
13.
Which OKE of the following statements describes the correct actions, in accordanca
with ONOF-049.1, Deviation or Failure of 2afety Related or Reactor Protection
{Channe's, if plant conditions are such that all bistables cannot be tripped due © an
undesired ESF actuaticn?

Aszsume the Unitis in Mode 1.

A. Immediately enter Technical Specification 3.0.3 and shutdown/cooldown urtil a
Mode is entered in which the Technicai Specification is not applicable.

3. Cemmence a shutgown to place the Unit in Made 3 within & hours and trip all
reguired nistables upon entry into Mode 3.

C. Da not trip any associated istablaes and follow asticns of Technical Specifications
for those bistables riot tripped.

D. Place only the bistables which will nol cause an ESF actuaticn in the testitripped
position and foliow Technical Specifications for those bistables not tnipped.
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tor Turkey Point Final Exarn 2003-301 Questions
14.
Unit 3 Reactor power has been stabilized at 1X10-8 amps when the follawing occurs:

- PT-444, Pressurizer Pressure Centrol Channel, fails high.
Which ONE of the following descrikes the response of the plant to this condition?

(Assurma no operator action}

A, A reactor trip will occur at 1835 psig due o low pressurizer pressure.
B. Sl actuation will occur at 1730 psig due to low pressurizer pressure.

{C. Pressurizer pressure wili decrease and pressurizer heaters will energize and
compensate for tlie pressure decraase.

D). Pressurizer prezsure will stabiiize when PORV PC-455C is shut at 2000 psig by the
protactive channels supplying the "block auto open” signal.

Tuesday, January U6, 2004 33427 P 14



QUESTIONS REPORT
for Turkey Point Final Exam 2003-301 Questions
15.
Which ONE of the foliowing indications would be indicative of only an RCP Number 2
seal failure?

A. RCP Thermal Barrier Law Differential Pressire.
E. RCP High Standpipe ievel.
C. RCP Thermal Barrier Cocling Water High temperature.

C. RCP Seal Leakoff High Fiow.

Tuesday, January 08, 2004 2:34:57 Phi 15
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for Tutkey Point Final Exam 2003301 Questions
16.
Which ONE of the fullcwing describes NIS Power Range Channei 4 (N-44} function in
comparisan with the other Power Range Channels?

A. Power Range Channels 1, 2, and 3 provide input to the Had Control system
whereas Power Range Channel 4 dogs nut.

B. Power Range Channel 4is the only channel that previces inputte the Overpower
Rod Stop.

C. PowerRange Channel 4 is the only channel that provides input to the OPDT and
OTDT runback circuiiry.

D. Power Range Channels . 2, and 3 provide inputto the OPDT and OTCT reactor
trips wheareas Powsr Range Channel 4 does nat.

Tueday, January fifi, 2004 3:44:57 M 16
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for 'Turkey Point Final Exam 2003-301 Questions

17.
Units 3 and 4 arg at 100% power when annunciater F 1/2, VITAL AC BUS INVERTER
TROUEILE, alarms as a result of "3C" Vita! Inverter low output voltage.

Which ONE of the fallowing describes the status nf Vital Instrument bus '3P08’
following receipt of the alarm and identifies the procedure operators will use to restore
normal plant configuration?

'3P06 is de-enerygized.
Restore plant configuration using 3-ONOP-G03.6, Loss of 120V Vital Instrument

Fanel 3P06.

_:I".-

B. "3P08’ is de-energized.
Restore plant configuration using 0-OP-003.3, 120V Vital Instrument AL System.

. "3P06 is powered from the CVT.
Restcre plant configuration using ONCP-003.6, Loss of 120V Vital Instrument
Panel 3F06.

D. '3P06' is powered from the CVT.
Restere plant configuration using 3-0F-003.3, 120V Vital Instrument AC Systam.

Tugsday, Janvary GE, 2004 3:34:57 P 17
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for Turkey Point Final Exam 2003-301 Guesticns

18.
Unit4 is in Moge 5 on RHR coociing with 'A' RHR pump in service. The 'B’ RHR pump
was taken out of service 10 hours ago for replacement of a bearing that was
overheating.

The 'A'RHR pump has tripped on overcurrent ang the crew has aniered QONOP-050,
|.ees of KHK.

Which ONE of the following describes the actions required to meniter RCS hieatup rate
per GNQP-0507

A. Plct core exit temperature every minute tor & minutes. Repeat every 15 minutes
until RHK cooling is restored.

B. Plat That every minute fur 5 mirutes. Repeat every 1% minutes until RHR cocling is
restoren.

C. Ploi core exit temperature every minute for 5 minutes. Repeat every 15 minutes
until natural circulation is verified established.

D. Plot Tret evary minute for 5 minutes. Repeat every 15 minutes until natural
circulation is verified established.

Tuesday, JerLary 06,2004 3:34:57 PM 18
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for Turkey Point Final Exam 2003-3i31 Questions
19.

Which QNE of the following describes the operation of the Narrnal Containment
Coolers (NCCs)?

A. The NCC is started by piacing the control switch in the ON pesition, the NCC fan
starts and its associated suction and discharge dampers open antomatically on the
start sighal.

E. The NCC is starteg by placing the control switch in the ON position, the NCC fan
starts and ita associated discharge damper automatically opens on the start signal.

C. The NCC discharge damper is marually cpened, the control switch is piaced in the
ON position to start the NCC.

)

The NCC is started by placing the contrel swiich in the ON position, the NZC fan
starts and its associated discharge damper will fully open when far discharge flow
increases above a pre-set flowrate,

Tuesday, January 08, 2004 3:34:57 PM 19
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far Turkey Poirt Final Exam 2003-301 Questicns
20,

A contral roorn evacuation has occurred and the crew is performing the actions of
OMCP-105, Control Room Evacuation. The Unit 3 RCO is emergency berating from
the Baric Acid Storage Tanks {BAST) per Attachment 3, Step 23 of ONOP-105 using
the *3B' Charging pump.

- The "38B" Charging pump speed contioller is set at 12 psig.

- RCP Seal leakageis constant at 12 gpim.

- Emergency boration has been in progress for 100 minutes.

After 100 minutes of emergency borating the "3B" Charging pump speed controller is
changed to 6 psig.

Which ONE of the following identifies approximately how many minuies [in addition
the 100 minutes) the RCO will need 1o emergency borate with the controller set at 6
nsig to satisfy the requirements ot Step 23 of ONCP-105 for borating from the BAST?

Assume the RCP Seal leakage remains constand at 12 gpm.

{References Provided}

A. 38 minutes for a total of 136 minutes of emergency boration.
B. 71 minutes for a total of 171 minuies of emergency boration.
C. 100 minutes for a total of 200 minutes of emergency boration.

D. 136 minutes for atotal of 236 minutes of emergency boration,
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QUESTIONS REPORT
for Turkey Point Final Exam 2003-3071 Quiestions

21.
Lnit 3 isin Made 5, "COLD SHUTDOWN," with the follewing plant conditions:

- All CET's read 195 ©FF and are stable.
- &' §/G'e secondary side marmway is in the process of beirg removad.
-8B and 'C’' 8/G Narrow range levels arc 20%.

- '8"and *C' 8/G seceondary water temperatures are 20 OF higher thar RCS ccld
ieq ternperatures.

- 111-3-48?,PRZ Level Cold Calib., is at 15%.

- Al RCP’s are off.

- RCS pressure is 325 psig @nd stable.

- Train 'A" RHR is in service.

- Train 'B" RHR iz inoperabie for repairs.

- Ali systems aligned in their narmal configuration for the present planrt
canditinns.

Aloss of 'A'RHR pump has just occurred and canngt be restored. RCS temperature is
Increasing.

Whicn ONE of the foliowing is the preferred metnod for heat removal under these
conditions in accordance with GNCP-050, "Loss of RHR"™?

A, One train of SI valves aligried for injection and a High-Head Safety Irjection pump
running, spill through the Pressurizer PORVs.,

B. Chargirig Pumnp injecting flow through the nermal charging iine, spil through the
Pressurizer PORVs.

C. Natural Circulation RCS flow with all avaiiable 5/G steam dump to atmosphere
valves open, Stancby Feeawater flow estabiished.

0. An RCPrunning with forced RCS flow with all available S/G steam dump to
atmosphere valvas open, Standby Feadwater flow established.
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22.
Unit 3 experienced a LQCA. Operators have responded with the EOP netwurl and
have just reset Sl in E-0, Reactor Trip ar Safety Injection. Containment pressure
subsequentiy exceeds 20 psig.

Which @NEwf the following describes the response of the Comtainment Spray pumps
and their discharge MOVs?

A. Both Containment Spray pumps wil start. Both MOV-880A & B will open.
8. Both Containment Spray purnps will start. Neither MOV-830A & B wili open.
C. Neither Containment Spray puimp will start. Both MCV-880A & B will open,

D. Neither Containment Spray pump will start. Neither MOV-880A & 2 will open.
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for Turkey Paint Final Exam 2203-301 Questions
23.
Unit 4 is operating at 20% power with a!lcantrols in Autcmatic.
©T-444 begins to drift down.

Which GNE of the foliowing dascribes the effect this wil have on PC-444J, Pressurizer
Pressure Master Controller, output, and the system response as a result of this failure?

C-4444 output will;

A. decrease, pressurizer hesters output will increase, and actual RCS pressure will
increasea.

B. increase, pressurizer heater output wili lower, spray valves will open, and actual
RCS pressure will decrease.

C. increase, pressurizer heater output will increase and actual RCS pressure will
INCrease.

D. decrease, pressurizer heater autput will lcwer, spray valves will open, and actual
KCS pressure will decrease.
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24.
Which CNE of the foliowing describes the design and purpose of the Emergency
Containment Filters (ECF)?

The ECF units contain ....

A. hoth high efficiency particle filters anc charcoal fiiters which remove ioding trom the
containmenrt atmosphere pest LOCA and provide cooling to the charcoal fitters
while the iodine decays.

B. only high efficiency particie filters which remove 95% of ali fission praducts from the
containment atmosphere pest LOCA arid provide cooling to the filters while the
fission products decay.

C. oniy charcoal fiifers which removes iodine from the containment atmaosphere post
LGCA and provide cooling tis the charcoal filters while the iodine decays.

D. both high efficiency particle fiters and charcoal filters which remove indine from the

containmentatmosphere pasi LQCA and provide backup for containment spray
containment pressure reduction,
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for Turkey Pgint Final Exam 2003-30 1 Questions

During opsration at 100% reactor power, the following annunciators alarmed:

- A-BM4 PZR1.O-LO LEVEL ALERT
- A-9/3, PZR CONTROL HILLO LEVEL
- A-9/4, PZR LO LEVEU/SEATER CUTOFF/LTON SECURED

The operator rioticed that LI-458A, Pressurizer Leve! instrument has faiied low.
Pressurizer level is no longer on program.

Which ONE of the following describes the required actions?

A. Place the CHANNEI. SELECT FRESSURIZER LEVEL CONTROL switch in the CH
1&2 position and restcre letdewn and heaters to service using ONOF-041.8,
Pressurizerl_evel Control Malfunction.

B. Piace tha CHANNEL SELECT PRESSURIZERLEVEL CONTROL switch inthe CH
263 position an3 restors letdown and heaters to service using ONOP-041.€,
rressurizer Level Control Malfunciion.

C. Placethe CHANNEL SELECT PRESSURIZER LEVEL CONTROL switch inthe CH
1&3 position, and start additonal charging pumps to restore pressurize:; level.

D, Stait additional charging pumps to restore pressurizerlevel and restore letdown
and heatersto scrvice using ONOP-041.6, Pressurizer Level Contral Malfundction,
and take actian using ONGF-(49.1, Deviation or Failure of Safety Related
Frotection Channels.
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for Turkey Paint Final Exam 2003-301 Quiestions
28.

With a containment purge in progress the following events automatically happen:

- Containment Purge supply and exhaust fans tripped.
- Containment Purge supply and exhaust valves shut.

Which ONE of the following could cause the above events?

A. Control Room HVAC 'ntake Hi Radiation, RAI 6643, in alarm.
B. Manual initiation of Safety Injection.
C. Plant Vent Gaz Menitor, channel B-14, in alarm.

D. Automatic Phase B Containment Isolation Signai.

Tuesday, January 08, 2004 ;3:34.57 PM
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far Turkey Point Final Exam 2003-201 Questions
27.
The following everts occurred in the order showr:

- The crew is responding tc an ATWS.

- FR-5.1, Response o Nuaclear Power Genaration/ATWS, has bheen entered.

- The RCO has started aligrnment for emergency boration per Step 4 of FR-5.1.

- The RCO has taken the switch for MOV-350, Emergency Boration Valve, to
OPEN.

- I”hergactor is tripped and all rods fulky insert.

- MOW-350 Valve Position Indicationan the control board indicates GREEN.

Which ONE of the foilowing describes the next actien{s) required of the operators per
FR-S8.17%

A. Emergency boration is no longer required arid the switch for MOW-350 should be
taken back to the CLCSED position.

B. Open HCV-121, Charging Flaw to Regen Heat Exchanger, verify Lcop A Charging
Isclation, CV-210A, is open and establish greater than 60 gpm boration flow on
FI-110.

C. Open FCV-113A, Boric Acid tu Blender, FCV-113B. Blender [Flow t& Charging
Pump, and Manual Emergency Boration Valve, 3-396. Then close FCV-113B.

D. Take the switch for MOV-350 back to CLOSE.and dispatch an Qperaici te verify
the breakerta MOW-350 is closed and re-atternpt to open MOV-350.
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for Turkey Point Final Exam 2303-301 Questions
28.
I&C just compleled a surveillance on the high voltage power salrce to the Source
Range (SR} nuclear instrurnents. 1%C determined the voltage was 1800 Vde, {200 Vdc
iower than the normal 2000 Vdc).

Wnich ONE of the foilowing describes the effect {and the reason) thisg lower than
normal voltage has on SR nuclear instrument performance,

SKE indication will...

A. ..rot be affected because the high voltage only supplies power to the electronic
circuitry of the amplifier.

A. ..increase because the reduced voltage in the high voltage power supply resulte in
more ion pairs reacning the electrodes due to lower potential applied te the
detector.

...decrease because smigller pulses are generated by the alpha decay ¢of U235 and
gamma interactions.

0

0. ..decrease because the reduced voitage in the high vaitage power supply results in
fewer ion pairs reaching the electrodes due tc lower potential applied fo the
detector.
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Which ONE of the following design features of the Spent Fuel Poal Cooling {SFPC)
system mitigates insdvertent draining of the Spent Fuel Poal?

A. Al pipirg system openings, including pumps and valves, are located at or above
the top of the fuel assemblies.

B. The SFPC auction piping is provided with an anrti-siphon hele,

C. The SFPC demineralizer water supply vaive automatically opens on a SFP low level
alarm.

0. The SFPC discharge piping is provided with an anti-siphor: hole.
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for Turkey Point Final Exarn 2003-301 Questions
33.

Which ONE ¢f the following describes how the Main Steam Line radiation monitor,
BAM-1, can ke used to identify a ruptured Steam Generator?

A. The DAM-1 system monitors ai! six 3/Gs sirnulianeously and has manual valves
that must he operated arid the display checkad.

B. The operator can access the NAM-1 ard SPING-4 informaticn through ERDADS ‘o
geterming the affected S/G, no local manipulation is necessary.

C. The affected Unit'sDA-1 system monitors the three S/Gs simuttanaously and has
manual valves that must be aperated and the display checked.

M. The lecai display an DAM-1 can be ¢hecked since it has flow and radiation display
locally for each sampie line, na loca!l manipulation is necassary.
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31.

Which ONE of the following is @ fundarnental reason for keeping water out of the Main
Steam lings?

A. Water 'n the lines incraases the corrosion and wear product builcup.
B. Water elimination decreases heat losses therefore increasing plant efficiency.
C. Water in the lines increases the possibility of detrimental water hammer,

D. Water elimination reduces the number of steam traps required.

Tuecaday, January 04, 2004 2:34:58 YM 3l



32.

QUESTIONS REPORT
for Turkey Poirt Final Exam 2003-301 Questions

Linit 3 has axperienced & steam line break nutsice of containmerit downstream of the
MEIVs. The crew unsuccessfully atternpted to close the M3IVs in Step 13 of £-0,
Reactor Trip or Safety Iniecticn.

The SRC transitions to E-2, Faulied Stearn Generator Isolation, and then to ECA-2.1.
Uncontiolled Depressurization of All Steam Generaters.

The crew has Justestablished feadwater flaw to the Steam Gererators using the 3A
Main Feedwater Pump when the RCO reports the following update on Steam
Generator Pressures:

3A S/G 3B 5/G 3C S/G

FI-474 decreasing Fl-484 stable P1-494 increasing
Pi-475 decreasing P1-485 decreasing P1-495 increasing
Fi-476 decreasing P1-488 stable PI-498 stable

Which CNE ¢ the failowing describes the actions requirgd?

A. Stayin ECA-2.1.
R. Returnto E-2.
. Transition to E-3, Steam Generator Tube Rupture.

D. Transition to E3-0.0, Rediagnosis.
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33.
LIrit 3 has experienced aloss of InstrumentAir.

Which ONE of the fallowing describes the correct opgraticn of the Unit 3 Steam Dump
to Atmosphere valves?

Qperate the Steam Dump to Atmosphers vaive controllers in ...

A. MANUAL oniy. If operated in AUITQ, the valves will remain ciosed.
B. MANUAL oniy. If operatedin AUTQ. the valves will fail cpen.
C. AUTO anly. If operated in MANUAL; the valves will remain closed.

L. AUTO only. If oparated in MANUAL, the values will fail cpen.
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for Turkey Point Final Exzm Z003-301 Guesticns
3.
Unit 4 stariup is in progress fallowing a refueling outage. 7he turbine load was being
increased per GOP-301, Hct Standby to Power Cperation, when Annunciator E-5/2,
CONDENSER LO YACULM, alarmed.

Both sels of SJAL's are in servine and the hogging jet iz in service. Turkine load is
currentiy at 300 MWe and condenzer vacuum is 24 inchas Hg and stable.

Which ONE of the following actions should be taken by the crew to respond to this
event?

A. Secure from the load increase and immeadiately start reducing load per GOP-143,
Power Operation to Hot Standby.

B. Secure from the 'oad increase, stabilize the plant at the current pawer level, and
rmonitor condenser vacuun.

C. Monitor conderser vacuum and cortinue with tha lpad increase.

[3. Trip the reactor and turbine and parform the immediate actions of COP-E-G,
Reactar Trip or Safeiy Iniection.
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35.
Unit 3 exparienced an evert 2 minutes ago arid the following conditions now exist:

- Reactor power is 100% and stable.
- RCS$ Tayg is at normal vperating temperature and STABLE.

- RCS pressure is at normal operatiniy pressure and STABLE.
- Containment pressureis INCREASING.

The following conditions now exist an Unit 3 Steam Generators:

i A” HB" I!Gl:
Steam Flow STABLE STABLE  STABLE
Feed Flcw PEGGED HiIGH STABLE STABLE
Fressure STABLE STABLE STABLE
| evel DECREASING STABLE  STABLE

Which ONE of the following events is in progress?

A. 3A Feed Fiow indicator hss failed HIGH.
B. Main Feed Line break INSIDE contairiment.
C. Mair Steam Line break INSIDE containment.

D. 3A Main Feedwater Regulatingvalve has Tailed OPEN.
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36,
Unit 3 is expericnzing a Loss of All AC Power. The crew is pertorming the actions of
ECA-0.0, Loss of All AC Power. 'Theoperaic:s have been unabie to restore power.

Which QNE of the foilowing describes the actions required for the safeguards
equipment and why?

A. The control switches for the safeguards equipment are placed in Puil-to-Lock to
prevent the possibility of an uncentrolled cooldown and depressunizetion of the RCS
when power is restored.

E. The contrcl switches for the safeguards edqtiipment are placed iri Puli-to-Leck to
prevent a potential bus overlcad when power s restored.

. The control switches for the safeguards eguipment are verified to be in automatic
alignment on the 4KV bus(es) that get power back so if 8l is required, it will ocour
without operator action.

D. The control switches for the safeguards equigmeant for QNE train are placed in

Puil-to-Lock and the centra! switches for the othear wain are verified to be in
automatic. This ensures alignment for injection without operator action.
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37.
Unit 4 has lost off-site power and is maintaining MODE. 3 steady-state conditions.

Which ONE of the following is an indication that Natural Circuiation is successfully
occurring in the RCS?

A. RCE subcocling indication is decreasing.
B. S/G pressure indications are increasing.
(. Core Exitthermocouple ternperatures are dacreasing.

D. RCS hat leg temperatures are increasing
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38.
Which ONE of the follcwing describes the purpose and function of the Seal Water to
the Condensate Pumpi{s) and when cperators must ensure itis in service?

A. Provides a sea' between the atmosphere and the vacuum in the condenser which
prevents ai: introduction into the condenser and is required to be in service only
when a condersats pump is in service.

B, Servesto lubricate the seal faces and the upper condensate pump bearingsto
prevent excessive wear and is required 2 be in service orly when a condensate
pLmp is in service.

C. Serves io lubricalé the seal faces and the ugpper condenszate pump bearings to
prevent excessive wear and provides a seal to prevent the intreduction of air info
the condensate system which could cause candensate pump cavitation and is
required to be in service any time there 's a vacuum in the condenser, &
condensate pump is running arid the pumg discharge valve is open.

D. Provides a seal between the atmosphere and the vacuum in the condenzer which
pravents air introduction into the condenser, it also serves to lubricate the seal
faces and the upper condensate pump bearings to prevent excessive wear and is
required i be in service any lime there is a vacuum in the condenser and the pump
suction valve is open.
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39.
Unit 3 in at 100% power with all systems in noamal alignment when 120V Vita;
Instrument panel 3P0Y loses power.

Iri the abzence of operator response, which ONE of the following describes the
response of Unit 3 5/0 namow range levels?

A, 3A S/G: Trending teward program level
3B 5/G: Lowering Unzontrollably
3C 8/G: Trending toward program level

B. 3A S/G: Treiing teward program evel
3B 5/G: Rising Uncontrollably
3C S8/G: Trending toward program level

C. 2A SiG: Rising Uncontrolabiy
3B S/G: Trending toward program ievel
2C 5/G: Trending toward program ieve

D. 3AS/G: Lowering Uncontraliably

3B S/G. Trending toward program level
3C 8/G: Trending toward program ievei
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Lnit 3 is at 100% power. A ioss of DC Bus 3DC1 occurs. Gft-site power is stilt
available.

Which ONE of the following will ccour as a resul of the ioss of 3001 DC Bus?

A. Loss of AFW pump 'C’ control ang protection.
B. All Main Steam Isolation Vaives will close.
C. The 3B Emergency Diesel Generator will lose &4 power.

D. All Safeguards aciuztion wili be: lost.
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41,
Which ONE of the following cenditions will result in @ Main Feedwater pump trip?

A. "A” Main Feedwater pump will trip if the lube ail pressure decrsases to 7 psig.

B. “A”and "B" Main Fsedwater pumps wili trip or a wide range 345 Hl level trip signal
of 93%.

C "B"Main Feedwater pump will trip if suction pressure decreases to 250 psig for > 5
secends.

. "A" Main Feedwater pump will irip if & lass of voltage condition cccurs on "A7
4160Ky bus.
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QUESTIONS REPCORT
far Turkey Point Final Exam 2003-301 Questions

Linit 4 has experienzed a loas of feedwater at 100% reactor power which resulted in &
reactor tip. The transient has also resulted in a break in the RCS which has caused
Containment temperature te increase to 185 OF. The crew 1s performing the actions of
E-0, Reactor Trip or Saiety Injection.

The crew has experienced problems with contreiling Auxiliary Feedwater (AFYWY) flow
and have one AFW pimp running. Operators are working te: get a second AFW pump
running. The crew has initiated the maonitcring of Critical Safety Functiors using F-0,
Critical Safety Furiction Status Trees.

Which ONE of the following describes when the limits for estabiishing bleed and Teed
cnoling have been reached?

A. Narrow range level in any Steam Gengrater drops below 32% with AFW flaw less
than 345 gpin tu that Steam Genearator.

B. Wide range level in any Steam Cenerator drops below 32% with AFW flow less
than 345 gpm to that Steam Generator.

C. Narrow range level in all Steam Generators drops below 32% with total AFYY fiow
lzss than 345 gpm.

D. Wide range level in all Steam Generators drops below 22% reguardiess of AFW
ficw.
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43.
Which ONE of the following would be & consequence of fire involving the "A" Auxiliary
Feedwater (AFW) pump, rendering itinoperable?

A. iUnit 3 safe shutdown capability would be compromised bacause there weuld be
inadequate AFW flow for decay neat removal.

B. Unii 3 safe shutdown capability would NCT be compremised because adequate
AFW flaw would remain availabie for decay heai removai.

C. Bgth Standby Feedwater pumps must be vearified operable withir 2 hours and Unit 3
rmust be placed in Made 3 withir the next 6 hours for compliance with Technical
Seecification action requiremerts.

0. Uinit 3 would be required to be in at least Mode 3 in 8 hows and in Mode 4 within

the following 6 hours for compliance with Technical Specification action
reguirerients.
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44,

With both units initialy at 100% power, opsrators were forced to evacuate the controi
room. Bath units are stable in Mode 3 with: zll iritia! actions of ONOP-165, Contrel
Raom Evacuation, having been completed successfuily.

All sequencers have been disabled.

A loss of offsite power coours.

Which ONE of the foillowing describes the required operator actions PRICR to closing
the "38' Emergency Diesel Generator {EDG) breaker?

A. A the EDG panel 3C12E, the E[M5 Master Control switch must ke piaced to
NORMAL.
B. A?the EDG panel 3C12B, the EDG Synchronizing switch must be placed in OFF

C. At the Alternate Shutdown P am | transter switches for the "3B' 4Ky bus loads and
associated Load Center loads must be placsed in REMOTE.

D. Atthe Alernate Shutdown Panel, contral switches for the 3B’ 4Ky bus loads and
associated Load Center loads rmmust be placed in STGR/TRIF.
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45,
A Vital Instrument inverter developed a fault that caused auto-transfer. After ?he
transfer, the fault immediately cleared.

Which ONE of the following describes the aitomatic operation of the inverter'?
(Assume the RETRANSFER switch is in its normal position)

The AUTOMATIC STATIC TRANSFER switch transferred the load te the ...

A. CVYT. The lcad must be manually trarsferrad back to the NORMAL inverter.

5. SPARE inverter. The ioad must be manually transferred pack to the NORMAL
inverter.

C. CVT and automatically transferrad back to the NORMAL iriverter.

E. SPARE inverter and automatically transferred back io the NORMAL invertar.
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48.

All AC power was Inst on Unit 4 and subsequently restcred lo ane 2Ky bus. The crew
has made a transition to ECA-0.2, Loss of Ail AC Power Recovery With S| Required.

Which OHNE of the follawing describes the operator action(s) coniained in CCA-0.2 with
regards to safeguards equipment?

Operator actions in accordance with ECA-0.2 wili:

A. cause the sequencer to inad on the Sl eauipment in the proper order,

B. manually start safeguards equipment in the same order as would the sequencer.

0

verify proper safeguards equipment lineup using E-0, Reacter Trip or Safety
Injeuticr.

0. manually start ICW and CCWY pumps first io provide seoling tnthe other safeguards
equipment prior to their cperation.
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47,
Which ONE of the following identifies the AFW steam supply MOWV’s that may be
deenergized ir the event & a loss of vita! DC power?

A. MOV-1403, 3A Strn Supply to Aux Feedwater Pumps
MOV-1404, 3B Strn Suppiy to Aux Feedwater Fumps
MOY-1405, 3c St Supply to Aux Feedwaler Purmps

B. MOV-1404, 3B Stm Supply to Aux Feedwater Pumps
MOV-1405, 3C Stm Supply to Aux Feedwater Purmps

C. MOW-1403, 3A Stm Supply tn Aux Feedwater Pumps
MOV-1405, 3C Stm Supply to Aux Feedwater Pumps

D. MOV-1403, 3A Stm Supply to Aux [Feedwater Pumns
MOV-1404, 38 Stm Supply to Aux Fesdwater Pumps

Tuesday, tanuary 06, 2004 3-34 58 PM
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48.

¥hich ONE of the following describes the sequencer operation if an Sl actuation
occurs while the sequencar is sequencing on l.oss of Oft-site Pewer (LOOF) loads?

A. The sequencer opens then re-closes the DG output breaker ang subsequently
loads all Sl and | GOP equipment.

B. The LOOP signal will lock out the Sl signal and no additicnal Sl eguipment is
loaded.

C. I'hesaguencer resets and then sequences all S arnd ILOOP equipment.

)

S| rmode sequence begins after the LOOP sequence times out and then the
additional 8| equipment is loaded.
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4.
There is a fire in the hydrogen generator cacling system. Initial fire fighting efiorts
caused the Fire Main header pressure to drop to 81 psiy. The Fire Main pressure
slowly increased @nd has subsequently stabilized at 87 psig.

Which ONE of the following describes the current status of the fire pumps?

A. The Diesel Fire pump auto started ahd the Electric Fire pump remained in standby.
B. The Electric Fire pump act, started. then the Liesel Fire pump auto started.
C. The Electric Fire pump auto started arid the Diesel Fire pump remained in standby.

T. The Diesal Fire pump autc started, then the Slectric Fire pumg auto started.
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iy
<o

A release is in progress from Waste Gas Decay Tank 'A'. A less of instrument bus
3P08 occirrs.

Which ONE cf the following describes the effact that this failure will have on the Waste
Gas discharge in progress?

{Assurne all systems operate normslly.)

RCV-G14, Waste Disposal System Gas Decay Tank Discharge valve, will ....

A. automaticaliy ciose due to loss of power resulting in the trip of the Auxiliary Building
exhaust fans.

B. automatically close due io loss of power to PRMS-R-14, Plant Yent Cas Monitor,

O

have to be manually closed since the lass of power resuiied in the loss of automatic
protection from PFRMS-R-14, Plant Yent Gas Monitor.

D. kave to be manually closed since the lass of power resuited in the loss of power to
the Waste Boron Recycle Panel.
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51.
The Waste Disposal Liquid reiease ling radicactivity monitor PRMS (R-18) uses
a -—and causes _when its high radiation aia'm setpoint is
reached-

A. G-Mtube; Liquid Effluent Discharge valve, RCV-18, to automaticaly close

B. G-M tube; no automatic auticn

C. Scintillation detector; Liquid Effluent Discharge valve, RCV- 18, to automaticaily
close

D. Scintillation detector; no automatic action
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Linit 3 is at 100% power with the "3C" ICW Pump out of service. Arnunciator F-2/2,
TURB BEARING HITEMP, is i alarm.

The SNFO reports a massive grass infiux has resulted in [CW/CCW and ICW/TPCW
basket strainer clogging.

‘The fallowing conditions exist:
- Componeant Coaling Water heat exchanger outlet temperature is currently

118 ©F and stable:.
- Turbine bearing termperatures are 181 OF znd slowly increasing.
- '3A’ and 33" TPCW heat exchangers are at 4200 gpm 1SW flow.
-'3A°, "38,and '3C" CCW heat exchangers are at 3020 gpm ICW flow each.

Which ONE of the *ollowing describesthe sctions that should he takan due to the
aboveg conditions?

A. Trip the reactor ard turbine and enter EOP-E-0, Rascior Trip or Safety injection.

B. Reduceturbine lead as nscassary to retum temperatures within rormal hands ang
implement ONOP-01 I Screen Wash Systemilntake Malfunction.

C. Increase couling water flow to the turbine lube oi! cocler to reduce hearing
temperatures and implement ONOP-011, Screen Wash Systern/intake Maifunction.

D. Ertar into Technical Specification 3.0.3 and commence a reactar shutdown per
GOP-1G3, Power Operatian te Hot Standby.
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Unit 3 is at 100% power. The 'B' Intake Cooiing Water {|{CW) pump breaker is racked
aut when an 3! gignal occurs.

¥vhich ONE of the following describes the ICYY purps that will receive an automatic
start signal?

A. Al only.
B. 'C only.
C. 'A'and "Clfthe 'Y bus is aligner! to 'A’ bus.

D. 'A'and "CHFthe'D bus is aligned to 'R' bus.
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54.

Which CNE of tha following will cause latdown orifice isclation valve, CV-20CA, to
ciosse?

A. Loss of Instrumnent Ar ic containment.

B. Manual initiaticn of Safety Injection.

C. VCT level increase to 86%.

D. Annunciator A-5/3, PZR CONTROL HYLO LEVEL, alarms urder no icad conaitions.
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Urit 3 and Unit 4 Instrument Air systems are in their narrmal aiignment with both units
operating at 10C% reactor pcwer. The Instrument Air system an Unit 3 develops a leak
arid pressureir: the system starts to decrease,

Which ONE of the foilowing dascripes the actions that will occur as a result of the
Instrumant air pressure dacrease??

Instrument Air header isolation valves CV-3-1605 and CV-4-16C5 will automatically
throttle:

A. ciosed to protect Unit 4 and Service Ai: supply valve 40-2052 wiil avtomatically
open to supply Service Air to the Linit 3 Instrument Air system.

B. ciosec to protect Unit 4 anid Service Air supply vaive 40-2059 shoul! be manually
opened to supply Service Air to tha Unit 3 InstrumentAir system.

C. open in an attempt to raise Unit 3 instrument Air pressure and Servics Air supphy
valve 40-2052 shauld be manually opened to supply Service Air ia the Instrument
Air system if Instrument Air pressure drops below 75 psig.

D. cpenin an attempt to raise Unit 3 Instrument Air pressure and Sernvice Air supply
valve 40-2C59 will automatically open te supply Service Air to the Instrurment Air
system if Instrirment Air pressure draps below 75 psig.

[+
14
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Which ONE of the followirg describes the type of firs suppression system that is

installad in the Inverter Rooms {Zones 108A ard 108B) and what are the nazards t¢
personne! if they are in the recm during syste:n actuation?

A. A deluge manual sprinkler system is instailed. An electical shock hazard exists due
to the large amounts of water used to combat the fire.

B. An automatic high pressure wet pipe system is installed. An eiectical shock hazard
exists due to the large armounts of water used to combat the fire.

C. Ar automatic halon system is installad. An asphyxiation hazard exists duo to the
oXygen scavenging aiributes of the halon.

D. A manual Carbon Dioxice {C0O25) system is installed. An asphyxiatior hazara exists
due to the resulting heavy concentrations of COp.
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57.

Which ONE of the following describes the complete action an AUTGMATIC safety
injection signal will have on the Unit 3 Centainment systems?

A. Close all containment isolation Phase 'B’ valves, stop ihe containment purge fans
and start the 'A' and "CECCs,

B. Close all containmert isclation Phase 'R'vaives, start the containment purge fans
and start the 'A", 'B’, and '’ ECCs.

C. Close all containment isolation Phase ‘A’ valves, stop the containment purgs fans
and start the 'A' and 'C' ECCs.

D. Clase all containment isclation Phase 'A'valves, start the containment purge fans
and start the 'A', 'B', and "CECCs.
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58.
Linit 3 is currently 2t 100% reacter power. Annungiator G-5/1, AXIAL FLUX T.S. LIMIT
EXCEEDED, has just; been declared inoperable. '&C does not expact to get the parts
needed for repair of the annunciator for several days.

¥Which ONE of the following describes the operater action{s) required?

A. Reduce themai power to less than 50% within 30 minutes and reduce the Power
Range Neutron Flux - High Trip setpoint to iess than or equai te 55% within the next
4 hours,

B. Menitor and lag the indicated AFD at least once per hour for the first 24 hours and
at least once per 30 minutes thereafter,

C. Monitor arid iog the indicated RPI atleast cnce per hour for the first 24 hours and at
leastonce per 30 minutes thareafter.

L. Reducethermai powsr to less than 50% within 30 minutes and implement
ONOP-052.4, Excess Axial Flux Difference.
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Which ONE of the fcliowing describes the use of the foldout page in EOPs and
QONDPs?

The foldout page contains information or action steps that ave:

A. only apeclicable while executing steps in the right-hand selumn of the precedure in
use.

B. only applicable while execuiing sieps in the lefi-liana coiumn of the procedure in
use.

C. applicable during the execuiicn of any step in the procedure in use, unless stated
gtherwise by the SRC.

D. applicable during the execution of any step in the procecure in use, unless stated
utherwise in the procedure.
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60.
Which ONE cf the followiny coinpletes the description of the ECCS design basis singie
failure criteria for the injection phase of an accident?

The ECCS is designed to withstand any single ___ failure and still perform iis
intended safety furiction.

A. active
B. passive
C. active or passive

{}. active and passive
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61,
YWhich ONE of the foliowing describes a procedure change that would be allowed to be
approved as a One Time Oy O7SC7

A. Changing a definition in 3-EPIF-20101, Duties of the: Emergency Coordinater.

B. Changing an instructicn in an Administrative Procedure.

C. Deleting a form contzined in an Opearatiors Surveillance Procedure for an eperator
log taken via the NOMS Program.

L. Changing a responsihility in a Quality Instruction {Ql) procedure.
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Refueiing operations are in progress on Lnit 3 when the foliowing takes place:

- Annurciator X-4/1, ARMS HI RADIATION, alarms
- Area Radiation Monitor, R-7, in the Spent Fuel Pit isthe affected channel

Operators quickly entered ONOP-068, Higlh Area Radiation Manitoring System Alarm,
and determined that the high alarm is not vaiid arid the R-7 has failed.

Which ONE of ths foilowing is correct regarding the Refueling operaticns in progress?

Refueling cperaticns...

A. ... are uraffected and may centinue without restrictions.

B. ... shall be stopped immediately. Refueling operations can continue it a portable
radiaticn manitor with an alarm is used in the Spent Fuel Pit.

C. ...shall be stopped until HP has completes surveys to ensure there is no source cf
high radiation in the Spent Fuel Pitarea.

D. ... shall be stopped immediately. Refueling Operations can centinue ONLY after
ARM R-7 has been repaired and declared OPERABLE.
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63.
QOnerators are reducing unit load with the control rods in AUTG.

During the load reducticn, Tref decreases to 4 % below Tgyg.

Based cr this Tavg/Tref mismatch,which ONE of the following identifies the soeed at
which rods should be inseriing?

A. B stepsimin.
B. 24 stepsimin.
C. 40 steps/min.

D. 72 steosfmin.
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64.
Given the following conditions at a worl site:

- Radiation levei is 40 mremifhr
- Radiaticn leve! with shielding is 10 mrem/hr
- Time for one worker to install and remove shiglding is 15 minutes
- Time to conduct the task with one worker is Thour
- Time to conduci the task with twa workers is 20 minutes
Assumptions:
- A dose rate of 40 mremdhr wili be received while installing arid rermoving the
shielding.
- Shielding is instailed and remaoved by nne worker criy.
Which ONE of the following would result in the lowest total whole bedy dose?

Congduizt the tssk with:

A. two workers witl shieiding.
E. two workers without shiclding.
C. ore worker with ghiglding.

. ore worksr without shielding.
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Which ONE of the following describes an operational cancerr associated with initiating
a containment purge?

An uncertrolied radiczactive release can result if the:

A. Containment Purge Exhaust Isclation Valves {(FCV- 2602 & POV-2603) are opened
before the Containment Purge Supply |soiation Valves (POV-2600 & POV-2£01)
are open&ad.

B. Containment Purge Exhaust fan is started without the equipment hiatch and
emergenicy hatch secured and at least one personne: door is closed.

C. Corntainment Purge Supgly fan is started without the equipment hatch and
emergency hatch secured and at least one personne! door is closed.

D. Containment Purge Exhaust fan is started before the Centainment Purge Supply
Fan.
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54,
¥Which ONE of the following describes the basis for isolating feedwater to a favlted
Steam Generator in Faulted Steam Generatar Isolation”

A. Prevent inadequate Auxiliaty Feedwater flow to the irtact Steam Generators.
B. Minimize RCS cooldown and mass enargy release.
C. Ta ensure a steam supply to the Auxiliary Feedwater pumps.

D. Prevents cold feeding of & hct dry Steam Generator which could result in a Steam
Generator tube rupture.
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QUESTIONS REPORT
for Turkey Puint Final Exam 2003.301 Questions
Ba.
Step 7 of EOP-ES-1.1, 8l Terminaticn, states to check if Containment Spray should L&
stopped. Step 7.c of E5-1.1 states ti: verify that Containment Temperature is less than

122 OF.

Which ONE of the following is correct concerning the 122 9 temperature limit for
resetting the Containment Spray signal?

Tre event is a much shorter guration evert than the event.

Tlerefore, the 122 @F Containment Spray tarmination criterion apply for
the shorter duration event.

A. Loss of Coclant Accident {L.GCA}, Main Steam Line Break {MSLB); does NOT
B. Lossof Coclant Accident {LQCA}; Mair Steam Line Breax {M5L8); does
C. Main Steam Ling Break (MSLB); Lossof Geolant Accident (LOCA); dees NOT

0. Main Steam Line Break (MSIB), 1_oss of Ceolant Accident (LOCAY, dees

Tueaday, January 0B, 2044 3:34:59 PM 88



QUESTIONS REPORT
fcr Turkey Point Final Exam 2003--3U1 Questions

EQP-ECA-1.2, LOCA Qutside Containment, Step 3, states "Check If Break Is [soiaied.”
If the: break is riot isciated, Step 3 directs vou to EQOP-ECA-1.1, Less of Emergency
Coolant Recirculation, Step 1.

Which ONE of the following is the reason the RNO columh directs you to
EOP-ECA-1.7, Step 17

A. RCS water level is appraaching mid-loop which wiil cause the RHR pumps to
cavitate.

B. A phase "A"izolation caused a ioss of Instrument Air in containment.
Subsequently, emergancy coolant recircuiation is not availabie until Phase "A" has

beer reset.
C. Thcrc is @ inventory in the cortainment sumgp.
D. A Containment Vertilation Isolationsignal caused & loss of Instrumant Air in

containment. Subsequently, emergency coclant recirculation is not available until
tha ContainmentVentilation isolation signal has beer: reset.
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70.

EQP-FR-H.1, Responseto Loss of Secondary Heat Sink. Step 1 states: "Check if
Senondary Heat Sink is Required.'!

Which ONE of the following statements is correct for a Large Break Loss of Caolant
Accident (LOCA) where the RCS will depressurize below intact /G pressures?

A. The secondary heat sink is NOT required and actions to restore secondary heat
sink are NOT riecessary.

B. Feed and bleed MUST be established withir 30 minutes and beforeiniact S/G wide
range level reaches 22%.

C. Feedwater MUST be established prior to intact 5/G wide range levels reaching 22%
to avoid thermal stress damage {o the S/G{s}.

. Feed ard bieed MUST be estabk:lished within 30 minutes or before core exit
thermccouples reach 700 PF.,

Tuesday. January 06, 2004 3:34:5¢ P 70



QUESTIONS REPORT
for Turkey Point Final Exam 2003-301 Questions
71.
EOP-FR-P.1, Response to Imminent Pressurized Thermal Shock Condition, statas in
Step 7, te "Check If SI Shouid Be Tenmminaied.”

Which ONE of the following events may result in a condition where analysis shows Sl
flaw may NOT be able to be terminated?

A. Small Break i_oss of Cooiant Accident {SBLOCA].
B. Ruptured Steam Generator
C. Steam line break upstream of the MSIVs.

D. Steam line preak downstream of the MSIvs.
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72,
ECQP-ES-0.4, Natural Circulation Cooldown With Steam Void in Vessal {Without
RVLMS), Step 6 states "Establish Pressurizer Levei To accoinmodate Void Growth."
Prior to this step, there is a note that states "Satiurated conditions in the pressurizer are
requiredto be established before trying to decrease pressurizer lavel."

Which ONE of the following choices is correct with respect to the thermodynamic
relationship between Prassurizer pressure and Pressurizer level and ther effect on the
plant?

Ifthe Pressurizer is not saturated, decreasing Pressurizer level (using charging and

letdown) wil! cause the Pressurizer pressurets . __——than ifthe Pressurizer
were saturated. Thaugh the Pressurizer pressure still decreases when levei is reduced
under saturated conditions, the rate of decraase is _ sice vapor is created as the

pressure creps.

A, increase slower; faster
B. increase slower; slower
C. decrease faster; faster

0. decrease faster; elower
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73
E0P-ECA-1.1, Lass uf Emergency Ceelant Recirculation, Step 12 directs cperators to
"Vertfy NO Backtiow from RWS1 to Sump.”

Which ONE of the following identifies the condition with the minimum number of open
valves in which backflow from the RWST to the containment sump could exist?

A. Both Recirculation sump suction line vaives MOV-860A AND MOV-861A are OPEN
when bath RHR Pump Sugction isol. valves MOVY-862A AND MOV-862B are CPEN.

8. Both Recircuiation sump suction fire vaives MOV-8634 AND MOV-880E are OPEN
when bath RHR Pump Sugtion Isol. valves MOV-B62A AND MOV-862B are OFEN.

C. Either Recirculation sumnp suction line valve MOY-880A OR MOV-861A is OPEN
when gither EHR Pumg Suction Isoi. valve MOV-862A OR MOV-862B is OPEN.

D. Either Recirculation sump suction ling valve MOV-860A GR MOV.8608 is OPEN
when either RHR Pump Suction Isoi. valve MOV-862A OR MOV-862B is OPEN.
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74.
ECP-ECA-2.1, Uncontrolled Cepressurization of All Steam Genaraters, Step 42, states
"Verify Si Flaw NOT Required.”
Which ONE of the following describes the basis for this step?

The camipination of ensures that RCS conditions are under adequate operater
control. Loss of control will requirg Sl flow.

A. pressurizerievel and narrow range SG level
B. subcooling and adecuate core flow
C. subconling and pressurize: leve:

D. adeguaic core flow and wide range SG leval
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Operaiors are performing ECP-ECA-1.1, Loss of Emergency Coclant Recircuiation,
and have established two Emergency Containment Coolers (ECCs) and ane
Contzinment Spray pump (CSP) running as directed by ECA-1.1.

Contzinment pressuresubseauently exceeds 20 psig and oparators transition to
EOP-FR-Z.1, Respense to High Contalinment Pressure.

Step B of FR-Z.1 directs operators (o start the second CSP.

Step 10 of FR-Z.1 directs operators to verify ECCs running.

Which ONE of the following cescribes the correct operator respense to the directions

given by FR-Z.17

A. Start the second CSP as directed by FR-Z.1.
Verify arly two ECCs are running,

5. Start the second GSP as directes by FR-Z.1
Verify three ECCs are runring.

%

Maintain only eng CSP running.
Verify only two ECCs are running.

0. Maintain only one CSP running.
Verify three ECCs ar= running.
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